Zinsrechnung: Zinseszinsen und Ratensparvertrag

Berechne jeweils das Endkapital

1) Ko=2900¢€
Zinssatz=1,3%
Laufzeit = 2 Jahre

2) Ko =3200¢€
Zinssatz = 2,7 %
Laufzeit = 2 Jahre

3) Ko=1800¢€
Zinssatz = 3,5 %
Laufzeit = 4 Jahre

4) Ko =1200¢€
Zinssatz=2,5%
Laufzeit = 6 Jahre

5) Ko =2000¢€
Zinssatz=2,1 %
Laufzeit = 6 Jahre

6) Ko=1700¢€
Zinssatz = 3,1 %
Laufzeit = 2 Jahre

7) Sparrate = 140 €
Zinssatz = 2,3 %
Laufzeit = 2 Jahre

8) Sparrate = 140 €
Zinssatz = 2,7 %
Laufzeit = 3 Jahre

9) Sparrate =240 €
Zinssatz=1,6 %
Laufzeit = 2 Jahre

10) Sparrate = 300 €
Zinssatz =2,9 %
Laufzeit = 3 Jahre

11) Sparrate =210 €
Zinssatz = 3 %
Laufzeit = 3 Jahre
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